


61.

62.

63.

64.

65.

66.

61.

62.

63.
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72.
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74.

75.

76.

77.

78.

73.

74.

75.

76.

77.

78.
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79.

81.

82.

83.

80.

79.   In monocots such as grasses, oats, maize 

etc., the plumule in the seed remains 

covered by a protective cap like structure 

called__ 

  a)  Petiole 

  b)  Shoot apex 

  c)  Root apex 

  d)  Coleoptile 

80.   Occurrence of more than four spores from 

a  spore mother cell is called__ 

  a)  Polyembryony 

  b)  Polyspory 

  c)  Polyspermy 

  d)  Polysiphony 

81.   In many species the germination of the 

seeds is affected by light resulting in seed 

dormancy. Such light sensitive seeds are 

called____ 

  a)  Endospermic 

  b)  Photoblastic 

  c)  Phototropic 

  d)  Photosynthesizing 

82.   Somatic hybridization of potato and 

tomato produces___ 

  a)  Pomato 

  b)  Secale 

  c)  Triticale 

  d)  Aegilops 

83.   If a living plant cell or tissue is placed in 

water or hypotonic solution, water 

  enters into the cell sap by osmosis is 

called___ 

  a)  Exosmosis 

  b)  Plasmolysis 

  c)  Endosmosis 

  d)  Diffusion 
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84.

86.

85.

87.

88.

89.

84.  In case of Bryophytes, vascular tissue like 

xylem and phloem are ___ 

 a)  Present in leaf 

 b)  Absent 

 c) Sometimes present and sometime  

absent 

 d)  Present on dorsal surface of the plant  

body (thallus) 

85.  The study of the action of the drugs is 

known as ___ 

 a)  Pharmacology 

 b)  Pharmacognosy 

 c)  Pathology 

 d)  Pharmaceutical 

86.  The first transgenic plant produced in 

India was___ 

 a)  Rice 

 b) Maize 

 c)  Cotton 

 d)  Tobacco 

87.  The name Kary Mullis is associated with 

 a) Gel retardation assay 

 b)  Chain termination reaction 

 c)  RAPD 

 d)  PCR 

88.  Double fertilization is characteristic of 

 a) Gymnosperms 

 b) Angiosperms 

 c)  Monocots 

 d)  Bryophytes 

89.  Which one of the following plants cannot 

be generally multiplied by seeds? 

 a)  Papaya 

 b)  Apple 

 c)  Banana 

 d)  Mango 
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90.

92.

91.

93.

94.

95.

90 Which of the following is the unique 

feature of 'Flavr Savr' Tomato? 

 a)  Deep red colour 

 b)  Resistance to insects 

 c)  Improved shelf life 

 d)  Sweet in flavour 

91.  Which of the following is best suited 

method for production of virus free 

plants? 

 a)  embryo culture 

 b)  meristem culture 

 c)  ovule culture 

 d)  anther culture 

92.  All are plant derived alkaloids 

except ____ 

 a)  menthol 

 b)  nicotine 

 c)  quinine 

 d)  codeine 

93.  Which group of enzymes are popularly 

called "Molecular stichers" 

 a)  restriction endonuclease 

 b)  ligases 

 c)  RNA polymerase 

 d)  DNA polymerase 

94.  Totipotency refers to 

 a)  the ability of a plant cell to arrest the   

growth of a plant 

 b)  the ability of a plant cell to develop 

disease in plant 

 c)  the ability of a plant cell to develop 

into a complete plant 

 d)  the inability of a plant cell to develop 

into a callus 

95.  A flower with essential and non-essential 

whorls is____ 

 a)  incomplete 

 b) irregular 

 c)  sessile 

 d) complete 
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96.

98.

97.

99.

100.

101.

96.  Plants which flower only once in their life 

is____ 

 a)  Polycarpic 

 b)  monocarpic 

 c)  cleistocarpic 

 d)  pericarpic 

97.  In which of the following plants, the male and 

female flowers occur in the same individual? 

 a)  pumpkin 

 b)  gram 

 c)  rose 

 d)  hibiscus 

98.  The edible portion of mango is___ 

 a)  Endocarp 

 b)  Mesocarp 

 c)  Epicarp 

 d) Pericarp 

99.  Seed dormancy allows the plants to 

 a) Overcome unfavourable climate 

conditions 

 b) Develop healthy seeds 

 c) Reduce viability 

 d) Prevent deterioration of seeds 

100.  Seed develops from___ 

 a)  ovary 

 b)  embryo 

 c)  ovule 

 d)  embryo sac 

101.  The first land inhabitant plants are 

 a)  Pteridophytes 

 b)  Bryophytes 

 c)  Gymnosperms 

 d)  Angiosperms 
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102.

103.

106.

107.

104.

105.

102.  Endosperm in gymnosperm is formed __ 

 a)  at the time of fertilization 

 b)  before fertilization 

 c)  after fertilization 

 d)  along with the development of 

embryo 

103.  Which of the following is a chlorophyll 
2+molecule lacking central Mg  ion? 

 a)  chl a 

 b) bacteriochlorophyll 

 c)  chl c 

 d)  pheophytin 

104.  The photosynthetic pigments are located 

in ___ 

 a) chloroplast 

 b)  grana 

 c)  stroma 

 d) Thylakoid 

105.  The photosynthetic activity of chlorophyll 

is maximum in __ 

 a)  violet and red light 

 b)  violet light 

 c)  blue light 

 d)  red light 

106.  The waxy substance associated with the 

wall of cork cells is __ 

 a)  Cutin 

 b)  Lignin 

 c)  Hemicellulose 

 d)  Suberin 

107.  The best method to determine the age of 

tree is __ 

 a)  to count the number of leaves 

 b)  to count the number of annual rings 

 c)  to measure it's diameter 

 d)  to find out the number of branches 
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108.

109.

112.

113.

110

111.

108. Study of wood is called as ____ 

 a)  Anatomy 

 b)  Morphology 

 c)  Histology 

 d)  Xylotomy 

109.  Grafting is not possible in monocotyledons 

because they __ 

 a)  lack cambium 

 b) have parallel bundles 

 c)  are herbaceous 

 d) have scattered vascular bundles 

110. Which of the following method is 

commonly practiced for root induction? 

 a)  Cutting 

 b)  Layering 

 c)  Grafting 

 d)  Budding 

111.  In grafting, the rooted plant is called the 

stock. The stem cutting from the donor 

plant is called __ 

 a)  transplant 

 b)  scion 

 c)  bud graft 

 d)  root stock 

112 In onion the inflorescence is ___ 

 a)  raceme 

 b)  corymb 

 c)  catkin 

 d)  umbel 

113.  The most important function of an 

inflorescence is to help in __ 

 a)  dispersal of seeds 

 b)  release of pollen grains 

 c)  attracting insects for crosspollination 

 d)  forming large number of fruits 
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114.

115

118.

119.

116

117.

114.  One of the best methods for understanding 

general relationships of plants is ___ 

 a)  Cytotaxonomy 

 b)  Experimental Taxonomy 

 c)  Numerical Taxonomy 

 d)  Chemotaxonomy 

115. Classical taxonomy is also termed as____ 

 a) β taxonomy 

 b)  systematics 

 c)  descriptive taxonomy 

 d)  experimental taxonomy 

116. The movement of water from one of the 

cortex cell to the adjacent one in roots is 

due to 

 a)  chemical potential gradient 

 b)  accumulation of inorganic salts in the   

cells 

 c)  accumulation of organic compounds 

in the cells 

 d)  water potential gradient 

117. Which of the following is essential 

for Nitrogen Fixation by leguminous 

plants? 

 a)  Chlorophyll 

 b) Leghaemoglobin 

 c)  Anthocyanin 

 d)  Phycocyanin 

118.  Major food crops of the world belongs to 

the which family ? 

 a)  Leguminosae 

 b)  Solanaceae 

 c) Cruciferae 

 d)  Gramineae 

119.  Reserpine drug is extracted from_ 

 a) Brassica oleraceae 

 b)  Atropa belladonna 

 c) Rauwolfia serpentina 

 d)  Digitalis purpurea 
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120. 120.  One of the following plants is a rich variety 

of timber: 

 a)  Cassia fistula 

 b)  Dalbergia sissoo 

 c)  Acacia arabica 

 d)  Morus alba 
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